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CCNA2 Chapter 10 Practice Test Answers

Which are the first networks to be put in the routing table?
· Directly connected networks.

· Networks learned using OSPF
· Networks learned using EIGRP.

· Networks learned using RIP.

What needs to be true of a link before that link is included in link state updates? (Choose all that apply.)

· The link must have an IP address configured.

· The link must be up.

· The link must be a serial link.

· The link must have its network included in a network command.

Which routing algorithm is used by link state routing protocols?
· DUAL

· SPF

· LSU

· Bellman-Ford

When does a link state routing protocol make most use of bandwidth? (Choose 2)

· It uses a similar amount all the time.

· Every 30 seconds.

· When the routers first start up.

· When the topology changes.

Where does a link state router send link state packets?
· To all directly connected devices.
· To all routers in the area that are running the same routing protocol.

· To one central router in the area.

· To all neighbours with which it has become adjacent.

When does a link state router send hello packets?

· When there is a topology change.

· At regular intervals to maintain a keepalive.

· When a neighbour sends a request.

· To notify that a regular update is due.
Which will be the same for all routers in an OSPF area that has converged?

· The routing table

· The link state database

· The neighbour table

· The best paths to each destination.

What information is included in a link state packet? (Choose all that apply)

· Address and mask of network for the link
· Metric for the link

· Address of final destination network

· Number of hops to destination

· Hostname of neighbour on the link

· Type of link e.g. Serial, Ethernet

Why is it an advantage for a link state protocol to have a hierarchical design?

· It allows routers made by different manufacturers to be used.

· It cuts down processing time and use of bandwidth.

· It allows all routers to become adjacent to each other.

· It allows a more efficient metric to be used.

Which is true of a link state routing protocol?
· Each router should have the same information in its routing table when the network has converged.

· Each router uses the best route metric supplied by its neighbour to calculate backup routes.

· Each router calculates its own best routes using the information in its link state database.

· Each router passes on its best route calculations to its neighbour to save on processing effort.

How does a link state routing protocol differ from EIGRP?
· It uses hello packets to form adjacencies with neighbours.

· It sends updates when the topology changes.

· It is fast to converge.

· It holds information about the whole topology of the routing area.

How do link state protocols manage to avoid routing loops?

· They use the split horizon rule so that they do not send information out of an interface that has received it.

· They hold a complete picture of the topology so that the routing algorithm should not produce any routes containing loops.

· They use holddown timers so that they wait before passing on the information that a link may be down.

· They use count to infinity by restricting the number of hops to a network.

Which are advantages of using a link state routing protocol rather than a distance vector routing protocol such as RIP? (Choose 2)
· Link state routing protocols give fast convergence.

· Link state routing protocols make lower demands on router processing power.

· Link state routing protocols send regular complete updates so that the information is always correct.
· Link state routing protocols tend to use less bandwidth after the initial flooding phase.
What is the Dijkstra algorithm?
· Another name for the Bellman-Ford algorithm.

· Another name for the DUAL algorithm.

· Another name for the SPF algorithm.

· Another name for the STP algorithm.

Which is true of OSPF’s metric in the Cisco implementation?
· The metric is cost, which is calculated so that the highest bandwidth links have the lowest cost.
· The metric is cost, which is calculated using the number of hops.

· The metric is cost, which is calculated according to the charge that the ISP makes for the link.

· The metric is cost, which is calculated using bandwidth and delay by default, though load and reliability can also be used.

When a link goes down, how long does a router running a link state protocol wait before sending an update to its neighbours?
· 30 seconds

· 90 seconds

· 30 minutes

· It sends the update at once.

What does a link state router do to a link state packet after receiving it and before forwarding it to a neighbour?
· It updates the metric by 1.

· It recalculates the best routes and updates the packet.

· Nothing. It forwards the packet as it is.

· It does not forward packets that it receives.

Where would OSPF be a good choice of routing protocol but EIGRP would not?
· On a network where the routers are old and have little processing power.

· On a network where non-Cisco routers may be used.

· On a network where subnetting uses VLSM.

· On a network where fast convergence is essential.
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